

# Metric and Hilbert spaces: Lecture 13

M+H Lect 13  
22.08.2017

①

## Limits and closure

### Theorem

Let  $(X, d)$  be a metric space. Let  $A \subseteq X$ .

Then

$$\bar{A} = \left\{ z \in X \mid \text{there exists a sequence } (a_1, a_2, \dots) \text{ in } A \text{ with } z = \lim_{n \rightarrow \infty} a_n \right\}$$

Recall:  $z = \lim_{n \rightarrow \infty} a_n$  means:

If  $\varepsilon \in \mathbb{R}_{>0}$  then there exists  $L \in \mathbb{Z}_{>0}$  such that if  $n \in \mathbb{Z}_{\geq L}$  then  $d(a_n, z) < \varepsilon$ .

i.e. If  $\varepsilon \in \mathbb{R}_{>0}$  then there exists  $L \in \mathbb{Z}_{>0}$  such that if  $n \in \mathbb{Z}_{\geq L}$  then  $a_n \in B_\varepsilon(z)$ .

A neighborhood of  $z$  is  $N \subseteq X$  such that there exists  $\varepsilon \in \mathbb{R}_{>0}$  such that  $B_\varepsilon(z) \subseteq N$ .

So  $z = \lim_{n \rightarrow \infty} a_n$  is equivalent to if  $N \in \mathcal{N}(z)$  then there exists  $L \in \mathbb{Z}_{>0}$  such that if  $n \in \mathbb{Z}_{\geq L}$  then  $a_n \in N$ .

Proof of the theorem Let

$$R = \left\{ z \in X \mid \text{there exists a sequence } (a_1, a_2, \dots) \text{ in } A \text{ with } z = \lim_{n \rightarrow \infty} a_n \right\}$$

To show:  $\bar{A} = R$ .

To show: (a)  $R \subseteq \bar{A}$

(b)  $\bar{A} \subseteq R$ .

(a) To show: If  $z \in R$  then  $z \in \bar{A}$ .

Assume  $z \in R$

To show:  $z \in \bar{A}$ .

Since  $z \in R$  then there exists a sequence  $(a_1, a_2, \dots)$  in  $A$  with  $z = \lim_{n \rightarrow \infty} a_n$

To show:  $z$  is a close point to  $A$ .

To show: If  $N \in \mathcal{N}(z)$  then  $N \cap A \neq \emptyset$

Assume  $N \in \mathcal{N}(z)$ .

Since  $\lim_{n \rightarrow \infty} a_n = z$  then there exists  $L \in \mathbb{Z}_{>0}$  such that if  $n \in \mathbb{Z}_{\geq L}$  then  $a_n \in N$ .

$\therefore N \cap A \neq \emptyset$ .

$\therefore z$  is a close point of  $A$ .

$\therefore R \subseteq \bar{A}$ .

(b) To show:  $\bar{A} \subseteq R$ .

To show: If  $z \in \bar{A}$  then  $z \in R$ .

Assume  $z \in \bar{A}$

To show:  $z \in R$ .

To show: There exists a sequence  $(a_1, a_2, \dots)$  in  $A$  with  $z = \lim_{n \rightarrow \infty} a_n$ .

Using that  $z$  is a close point to  $A$ , let

$$a_1 \in B_{10^{-1}}(z) \cap A, \quad a_2 \in B_{10^{-2}}(z) \cap A, \dots$$

To show:  $z = \lim_{n \rightarrow \infty} a_n$ .

To show: If  $N$  is a neighborhood of  $z$  then there exists  $l \in \mathbb{Z}_{>0}$  such that if  $n \in \mathbb{Z}_{\geq l}$  then  $a_n \in N$ .

Assume  $N \in \mathcal{N}(z)$ .

To show: There exists  $l \in \mathbb{Z}_{>0}$  such that if  $n \in \mathbb{Z}_{\geq l}$  then  $a_n \in N$ .

Let  $l \in \mathbb{Z}_{>0}$  such that  $B_{10^{-l}}(z) \subseteq N$ .

To show: If  $n \in \mathbb{Z}_{\geq l}$  then  $a_n \in N$ .

Assume  $n \in \mathbb{Z}_{\geq l}$ .

To show:  $a_n \in N$ .

Since  $n \geq l$  then  $10^{-n} \leq 10^{-l}$  and

$$a_n \in B_{10^{-n}}(z) \subseteq B_{10^{-l}}(z) \subseteq N.$$

$$\circ z = \lim_{n \rightarrow \infty} a_n.$$

$$\circ z \in \mathbb{R}.$$

$$\circ \bar{A} \subseteq \mathbb{R}.$$

$$\circ \bar{A} = \mathbb{R}.$$

A Hausdorff topological space is a topological space  $(X, \mathcal{T})$  such that if  $x, y \in X$  and  $x \neq y$  then there exist  $U \in \mathcal{N}(x)$  and  $V \in \mathcal{N}(y)$  such that  $U \cap V = \emptyset$ .

Proposition Let  $(X, \mathcal{T})$  be a topological space. Assume  $(X, \mathcal{T})$  is Hausdorff. Let  $(x_1, x_2, \dots)$  be a sequence in  $X$ .

If  $\lim_{n \rightarrow \infty} x_n$  exists in  $X$  then  $\lim_{n \rightarrow \infty} x_n$  is unique.

Proof

Assume  $z_1 = \lim_{n \rightarrow \infty} x_n$  and  $z_2 = \lim_{n \rightarrow \infty} x_n$

To show:  $z_1 = z_2$ .

Proof by contradiction.

Assume  $z_1 \neq z_2$ .

Using that  $X$  is Hausdorff let

$N_1 \in \mathcal{N}(z_1)$  and  $N_2 \in \mathcal{N}(z_2)$  with  $N_1 \cap N_2 = \emptyset$ .

Since  $\lim_{n \rightarrow \infty} x_n = z_1$ , there exists  $k_1 \in \mathbb{Z}_{>0}$  such that

$$\{x_{k_1}, x_{k_1+1}, \dots\} \subseteq N_1.$$

Since  $\lim_{n \rightarrow \infty} x_n = z_2$  there exists  $k_2 \in \mathbb{Z}_{>0}$  such that

$$\{x_{k_2}, x_{k_2+1}, \dots\} \subseteq N_2.$$

Let  $l = \max\{l_1, l_2\}$ .

Then  $\{x_l, x_{l+1}, \dots\} \subseteq N_1 \cap N_2$ .

This is a contradiction to  $N_1 \cap N_2 = \emptyset$ .

So  $z_1 = z_2$ . //